AL-602(GS)
B.Tech. vV Semester
Examination, May 2024

Grading System (G5)
Computer Networks
Time : Ty ree Hours

Maximum Marks © 70
Nore: i)  Answer any five questions.
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i1)  All questions carry equal marks.
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iii) In case of any doubt or dispute the Engli
question should be treated as final.
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1. a) Explain the ISO-OSI model of computer netwo
neat diagram.
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b) Explain connectionless and connection oriented services.
Give examples of each.
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2. a) Withaneat diagram €X' in detail about the.NCt‘Wﬂfk

architecture, -
g g & W@ A Yead anfbeay ¥ ar o
R Q saw

b) Distinguish betwecen pf‘\""“*lﬂ—pccr rclationship and a
primany-sccondary relationship,
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a) Explain TCP/1P Model.
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b) Explain the frame format, Operation and ring maintenance
feature of IEEE 802.5 MAC protocol.
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Explain the various error detection and correction
mechanisms used in computer network.
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b) Describe sliding window protocol using Go back n.
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Explain distributed random access schemes/contention
schemes for data services.
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b) Explain MAC sub layer protocol and frame structure of
IEEE 802.11. '

MAC ¥ R Wicteia silk IREE 802.113F ¥ e &l
R |

L-602 (GS)
A ( Contd...


https://www.rgpvonline.com/

i
6. 80 Compare Ip

[4]
V4 angg ey o g Write brief notes:
1Pvq Glh 1Pve G N ] :
e g | fm e ford
b) Explain Dijksi,. Naorithmt fOF TOuting  iscuss its
limitations. B! i) SMIP
Routing & 3 Diikra's cenRem @) e & ii) Congestion Control
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7. An ISP is granted ;5 block of addresses starting with iv) SNM
190.100.0.0/16 (65.53¢ addresses). The ISP needs to
distribute these addresseg to three groups of customers as
follows:
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a)  The first group has 64 cystomers; each needs 256 addresses

b) The second group has 128 customers; ecach needs
128 addresses. https://www.rgpvonline.com

¢) Thethird group has 128 customers; each needs 64 addresses.

Designthe sub-blocks and find out how many addresses are
still available after theseallocations?
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